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(% £F BE ) (min) ( 1w )| 1w )| 10 )| 10 )
VUL Do mm 15~20 — — —
T—Aa (1) vIH mm — — 3 3
T—Ah (2) YV HF mm — — 3 3
* X T—h (3) YK mm - - 3 3
:/U\/? T—a 1) vIvHF mm — - - -
BRETE T—2 (5) VUK mm — — — —
R C: =g~ i) (min) ¢ — Y| = )y | C 1w >yl 10 )
7 (fEENEHAIGE) e N A e I R N I B
(TEZEAEE RS [BENo.] | [ I No. ] [ X No. ] [ K No.1] [ X No.1]
st I 7= 1) W W» sec — — 32+5 3245
W sec — — 38x5 38+5
VA 7= A (2) B W sec — — 25+5 25+5
W A sec — — 2845 2845
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£ (= [ElERED) (min™) (Y TEE D) (2172450) (1777£50) (2070+50)
= (fE & W 1B ) (C) ( 50410 ) | ( 50«10 ) | ( 50410 ) | ( 50410 )
B &= O E min! 22+2 3143 2249 27+2
% Fre—r Db mm — _ _
AAIEYE S (HIER - 7 EEL) {(min™) (1800£50) (2200450) (2200+50) (1700+50)
) (=Y v ElERE) (min?) vy TR725)| (2172450) (177750) (207050)
e (e & W 1B &) (C) ( 50+10 )| ¢ 50£10 ) | ( 50%10 ) | ( 50+10 )
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=5 (2) YUK mm — 0.5 LI'F — 0.5 LAF
* . T—h (3 VI mm - 0.5 LAF — 0.5 LT
R T—h (4) YU | mm - — — ~
HABTE|—n (5) v U s mm — — - —
N GAl & W R (min) (=) (10) (=) (10)
7 (TEBhEHAIS 1) (—) (=) (=) (=)
(EEEBEED) (1547 No.] [ -] [ No.1 ] [ -] [ No.1 ]
3t ' 7 — n (1) 1 W» sec — 35410 — 6510
e A sec — 30+10 — 65410
A 7= A (2) B W sec — 40+10 — 55+10
s I sec — 40+10 — 65+10
3 | s 7 — A (3) B W sec - 55£10 — 65410
S ALY K Mg A | sec — 6010 — 85+10
EEER | 7 — & 4 M O sec — _ _ —
& B A sec - — _ -
7 — A (5) B O® sec _ — _ —
fE A sec — — — —
ClER v 7 EEER) (min™) (=) (1600) (=) ( 1700 )
(fF & | IR &) (C) (=) ( 50£10 ) (=) ( 50+10 )
(CEX 32 (i No ] [ -] [ B No.3 ] [—1 [ M No.3 ]
. L MHEEAH MW OE| MPa 27. 51 20. 61 27. 541 27. 51
v 7%5%;%?%%7) X E | Mpa 4.9 4.9 9.7 4.9
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(fE & 1 1R &) () ( 50+£10 ) | ( 50£10 ) | ( 50%10 ) | ( 50«10 )

wEl  BrEEEEERY (BEE,
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PY75(B)-164 | PY75(A)-18 PY75A-19A PY75B-194A PT80-10 PY80-26H PY21-10 PY21-51
M) i My vy AA T AT AA LY AA LT
75 75 75 75 80 80 100(70) 100 (70)
3.2(4.9) 3.2(4.9) 3.2(4.9) 3.2(4.9) 11.8(8.3) 12.3(8.3) 5.4(7.8) 5.4(7.8)
16 18 18.6 18.6 I -ME1LD 25.7 TT-MEL 21. 4
0IPI10001~ | 97P020001~ | 00PO40001~ | 02P020001~ | 92P000001~ | 98P100001~ | S4POLIA0T~ | B3FO0000L~
L = P “e B
3742 3742 3742 3742 3842 3842 2549 3249
(170050) (1700+50) (1700+50) (1700+50) (1400+50) (140050) (1800+50) (2200+50)
vy TR A (2070£50) (2070450) |(vay TR D) (1670£50) (1670450) (2192+50) (1937+50)
( 50£10 ) | ( 50410 ) | ( 50£10 ) | ( 50+10 ) | ( 50+10 ) | ( 5010 ) | ( 50+10 ) | ( 50+10 )
2742 2742 2742 2742 3143 3842 3143 3843
(170050) (1700+50) (170050) (1700+50) (1400+50) (1400+50) (1800450) (2200+50)
(yyvTHEAeD)| (2070+£50) (2070450) |(Vyy TR D) (1670450) (1670+50) (2192450) (1937+50)
( 50£10 ) | ( 50£10 ) | ( 50«10 ) | ( 50410 ) | ( 50«10 ) | ( 50+10 ) | ( 50+10 ) | ( 50+10 )
(—) (=) (—) (—) (! (—) (—-) (—)
(=) (=) (=) (—) (=) (—) (—) (=)
0.5 BIF 0.5 LIF 0.5 LUF 0.5 BIF — 0.5 AT — 0.5 LI'F
0.5 LR 0.5 AT 0.5 LAF 0.5 AF — 0.5 UF — 0.5 LI'F
0.5 BLF 0.5 LIF 0.5 LI'F 0.5 AT — 0.5 LT - 0.5 LIF
— — — — — 0.5 BA'F —~ —
(10) (10) (10) (10) (—) (10) (—) (10)
(—) (=) (—) (—) (=) (—) (—) (=)
[ B4 No.l1]|[ B No.l]|[ B No.l]J|[ K No.1]l [ -] [ B No.1] [ —1] [ K No.1 ]
65+10 40410 55+10 55+10 — 65+10 — 6010
65+10 65+10 55+10 55+10 — 75+10 — 6510
55+10 35+10 65+10 65+10 — 75+10 — 8510
65+10 65+10 80+10 80+10 — 70+10 — 8510
65+10 30£10 45+10 45+10 — 50+10 — 50410
85+10 55+10 55+10 55+10 — 90+10 — 6510
— — — — — 30410 — —
- — — — — 40%10 — —
( 1700 ) (1700) (1700) (1700) (=) (1400) (—) (1600)
( 50+10 ) ( 5010 ) ( 50+10 ) ( 5010 ) (=) ( 50410 ) (—) ( 50£10 )
[ No.3]|[ X No.3]|[ B No.3 ][ B No.3 ] [ -] [ B No.3 ] [ -] [ B No.3 1
27. 5+1 27. 51 27. 51 27. 5+1 27. 5+1 27. 541 12. 31 12. 341
4.9 4.9 4.9 4.9 6.5 7.6 5.9 5.9
(1700+50) (1700+50) (170050) (1700+50) (1400+50) (1400+50) (1800+50) (2200450)
(yyCHER D) (2070+50) (2070+50)  [(v4y TR D) (1670+50) (1670+50) (2192450) (1937+50)
| ( 50+10 ) | ( 50+10 ) { 50£10-) ( 50+10 ) | ( B0x10 ) | ( 50+10 ) | ( 50+10 ) | ( 50+10 )




= F L A4 PT50-10(11) | PY60-14/18 | PT70-10(11) | PY75(a)-16
ok B OK| AT AA T AL AT
N e s B ok u & n'/h 55 60 70 75
O W BRSO B A MPa 3.2(4.9) 1.7 3.2(4.9) 3.2(4.9)
7 -hEkH B m < -hEL 14.3 T -MEL 16
WO B % 98P040001~ | S9FO00001™ 1 9gp100001~ | 97P0O10001~
K 4| &SN W& EB (& B {7 bic 7= e He &
ElAE L THE MPa 27. 51 27. 541 27. 5+1 27. 5%l
F U o HIRE MPa 27. 5%1 20. 61 27. 5+l 27. 51
H N LATAE—FHE MPa 13. 71 13. 7x1 13. 71 10. 8+1
Eo|RMERSE | — AomE MPa - 20. 61 - 27, 441
" Ty ME|ACC HREAES MPa — 6. 2+0. 3 — -
A (HER > 7 elEE) (min™) (1800450) (2200450) (1800450) (1700+50)
(v mElEE) (minY) Gy TR A (2172450) (1777+50) (2070450)
(fE 8 W 1B %) ) (5010 ) | ( 5010 )| ( 50%10) | ( 50+10 )
EEIEEMATAEL RO | Nem - 294+9. 8 — 294+9. 8
Pxd BEDTHT by
BEEIAT Y v
1 BAH A S [ SEEST Y BT | Nem — 29449. 8 — 29449. 8
H OFERT T BN OFEDT b vy
% | 1l ’ FEER L kOSBRI A 4 3 3
st BE B OB sec — 8510 — 75£10
%
§7* (he [B1 E &h £ BE) (F£) ( — ) | @eo-&fEm)| ( — ) | (360-25EF])
& | | BEEMEBEE | ghEasSEES) | min) | ( — ) | (100) | ¢ — ) | (1700)
e (T g (min™) | ¢ —~ ) (11580 ) C =) ( 2070 )
<
(fE 8 8 1B %) (C) ( — )y | Cs0x10 )| ¢ — ) | ( 50%10 )
B
T ERELY LS mm 0. 5L F 0.550F 0. 580 F 0. 580 F
i vy }
% B SR B GAl E B R min ( 10 ) ( 10 ) ( 10 ) ( 10 )
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DWER 7 3 fHRE R K EOREIZT 5 2 &,
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PY75(B)-164 | PY75(a)-18 PY75A-19A PY75B-194 PT80-10 PY80-26H PY21-10 PY21-51
AALVT AALVT AL T AL T AL T AA VT AT AL T
75 75 75 75 80 80 100 (70) 100(70)
3.2(4.9) 3.2(4.9) 3.2(4.9) 3.2(4.9) 11.8(8.3) 12.3(8.3) 5.4(7.8) 5.4(7.8)
16 18 18.6 18.6 <7 -ME LD 25.7 T =MELD 21.4
01P110001~ | 97P020001~ | 00PO40001~ | 02P020001~ | 92P00000T~ | 98P100001~ 8413058@“” 83?0%2801”
iy e B e B
27. 5+1 27. 51 27. 541 27. 51 27. 541 27. b+l 27. 5+1 27. 51
27. 5+1 27. 51 27. 51 27. 51 27. 5+1 27. 5+l 27. 5+1 27. 5+1
10. 8+1 10. 841 10. 8+1 10. 8+1 13. 741 13. 7+1 13. 741 13.7+1
27. 441 27. 4+1 27. 4+1 27. 4+1 — 27. 5+l — 20. 6:+1
— - — - 7. 8+1 7. 81 7.8+1 7.8+1
(1700450) ( 1700 ) ( 1700 ) ( 1700 ) (1400+50) (1400£50) (1800+50) (2200+50)
(vyweR22)  (2070) (12070 ) |\ TTHEZRD)| (1670+£50) (1670+50) (2192450) (1937+50)
( 50+10 ) | ( 5010 ) { 5010 ) (50410 ) | ( 50+10 ) | ( 50+10 ) | ( 50+10 ) | ( 50£10 )
29449, 8 29449, 8 29449, 8 29449. 8 — 29449, 8 — 29449, 8
29449, 8 29449. 8 294+9. 8 29449, 8 — 29449, 8 — 29449, 8
3 3 3 3 3 3
75£10 75410 7510 75+10 — 155410 — 110+10
(360 =HERD) | (360- 4 fEED | (360- 2FER]) | (360-kER) | ( — ) |(360-£FEE) | ( — ) |(360-&fER=)
( 1700 ) { 1700 ) ( 1700 ) ( 1700 ) « =) ( 1400 ) - ) ( 1600 )
RS (2070) (2070 ) |WTRRD) ( — ) ( 1670 ) ¢ =) ( 1409 )
( 50+10 ) | ( 50410) { 5010 ) ( 50«10 ) ¢ — ) | (5010 )| ¢ — ) | ( 50£10 )
0.5 BUF 0.5 LI'F 0.5 LI 0.5 DIF 0.5 UTF 0.5 T — 0.5 UTF
( 10 ) ( 10 ) (10 ) ( 10 ) (10 ) ( 10 ) « - ( 10 )
[K No.2 J|[ B No.2 J|I[ M No.2 |[B No.2 1| T — T |[B® No.2]] [ — ] |[[K No.2]
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VBT EVAFAD RS DN TRT,
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R Be A L 2E

x ¥ o 4 PY21-51A PY21-60 PY21-60A PY110-25
W ow A B — AT AT AT AT
. o . B & o i E| m/h 100(70) 100(70) 100 (70) 110(75)
B A R R e R mE S M | 5.40.8 [ 5.40.9 5.4(7.8) 1.6(6.6)
7 oMK EE] m 21. 4 29 29 25
_ 5 84P000001~ | 84P020001~ | 85P000001~ | 89PO10001~
& 7 94p 85P 85P 95p
Ko mESF | E®RE (&GP | B i &= 3 % &
VA A hu—7E# | B, min 3242 3242 3242 3242
o — & [B] 88 4 &,/ min — — - —
BT EE Gmese Sl | (min?) | (2200450) (1500450) (1500450) %QOES%
o (v ElEH) (min™) | (1937+50) (1540450) (1540450)  |193750 W ¥
. (E & 1 B BE) (‘C) | ( 50x10 ) | ( 50£10 ) | ( 50£10 ) (:Z;gﬂ%ﬂg)
B o min™! 38+3 2643 26+3 3843
%t Fr—2DEDLH mm — _ _
PRBARE! Gurese ZEES) | (uin) | (22006500 | (15004500 | (1500450) | Gaepe
i (v EEEE) (min™") | (1937450) (1540+50) (1540450)  [1937250 V>3 &
# (fF 8 W R E) C) | € s0e10 ) | ( 50s10 ) | ( s0x10 ) | ~E2LT240
E 5 #®RE®E MPa — - - —
wlE GREMBIERER) | (min) (. — ) C =] =] ="
B 2R ¥ 7 ENETHAR MPa — — — —
(4% ¢ B ) (min) C — > C = ) = =)
VARV IR NDY ik o ¥’ mm — — _ _
T—h (1) YIH mm 0.5 LLF 0.5 LLF 0.5 LLF 0.5 LLF
T—h (2) I H mm 0.5 LN 0.5 LAF 0.5 LATF 0.5 LATF
ES ) T—h (3) vV F mm 0.5 LLIF 0.5 LAF 0.5 LL'F 0.5 BL'F
VIS T @) vV | mm - — - 0.5 LUF
BRETE | 7—n (65) Vs | mm - — — —
. GRl = B D) (min) (10 ) ( 10 ) ( 10) (10 )
7 (fEEhaHEIZAF) ( — )| C =1 C=1C="
(E3ELERE E5) (XmNo.] | No.1 1L No.1 1L No.1 ][ No.1 ]
ge | ! 7T = n (1) i O sec 6010 8510 8510 8510
o WO sec 65+10 60+10 50£10 80+10
A T = A (2) W sec 8510 170+10 170+10 100+10
ME A | sec 85+10 185410 185+10 125410
3 | % 7= A (3 i V| sec 5010 105+10 105£10 105+10
T B U H M A | sec 65+10 120+10 120410 150+10
= 1”5@5#&? 7 — A (4) {E’ﬂ [0} sec — — _ 60+10
ol W A | sec — — — 8510
7= A (5) W O sec — — — —
B A sec — — — _
(WEAR > 7EERE) | (min™) ( 1600 ) ( 1500 ) ( 1600 ) ( 1600 )
(fF & R BE) C) ( 50+10 ) ( 50+10 ) ( 50+10 ) ( 50+10 )
TEREBLED (i No.J | [ No.3 1| No.3 1|[ B No.3 1|[ No.3 ]
KoK v 7 i E S W E| MPa 20. 61 20. 61 20. 61 20. 61
Ve | () X FE | MPa 5.9 5.9 5.9 5.9
5 = MEEHE | m — - — ~
Ht% OB inHE D MPa — — — -
=< ; .. e L (2200=50)
(EER 7EESH) | (min?) | (2200£50) | (1500£50) | (1500+50) HE [ E
[ (= v EERE) (min™) | (1937+50) (1540450) (1540450)  [193750 v ¥
(fF B W R ) (C) | € 50£10 ) | ( 50£10 ) | ( 50sl0 ) | FEALTEED

wHl  FTEAEETRT (25,
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PY115(A)-26 PY115-31 PY115-31A | PY120(A)-33 | PY120(A)-36
AT ZZA iz A AT
115 115 115 120 120

4.6(6.6) 4.6(6.6) 4.6(6.6) 4.6(6.6) 4.6(6.6)

25.7 30.7 31 33 36
95P000001 ~ 92P0ég801“ 96P000001~ | 97P000001~ | 96PO10001~
i = H ki &
3242 3242 3242 3242 2642

(1800450) (1800450) (18004+50) (1800450) (1800+450)

(17774£50) (1585+50) (1585+50) (1585450) (1489450)

( 5010 ) | ( 50£10 ) | ( 50£10 ) | ( 5010 ) | ( 50£10 )
3842 3842 3842 3842 3842

(1800450) (1800+50) (1800+50) (1800+50) (1800450)

(1777450) (1585+50) (1585+50) (1585+50) (1489450)

( 50£10 ) | ( 50£10 ) | ( 50£10 ) | ( 5010 ) | ( 50£10 )

« = ) C - ) « - ) « - ) « = )

C - ) «C - ) « - ) «C - ) C - )

0.5 UTF 0.5 LLF 0.5 LLF 0.5 BLF 0.5 LT

0.5 LIF 0.5 AT 0.5 UUF 0.5 BI'F 0.5 AT

0.5 UTF 0.5 AT 0.5 LAF 0.5 BLF 0.5 UUF

0.5 LL'F 0.5 IF 0.5 IR 0.5 LR 0.5 UUF

( 10 ) ( 10 ) ¢ 10 ) ( 10 ) ( 10 )

« - ) C - ) C - ) C =) « - )

[ No.l]|[ B No.l J|[ B No.ll{[ B No.l ]l|[ K No.1l]
65+10 105410 105+10 105£10 125410
75£10 80+10 80410 90+10 90+10
75410 80+10 80+10 11510 150410
70410 95410 95+10 10010 120£10
50+10 90+10 90+10 10010 115£10
90+10 115410 115410 180+£10 200410
30£10 6510 65+10 35410 50+10
40410 90+10 90+10 70£10 8510

( 1800 ) ( 1500 ) ( 1800 ) ( 1800 ) ( 1800 )

( 50+10 ) ( 5010 ) ( 50£10 ) ( 50+10 ) ( 50+10 )

[E No.3 J|[ X No.3T|[ [ No.31|[ X No.31|[ [ No.3 ]
27. 541 20. 61 27. 51 27. 5+1 27.5+1
4.9 5.9 4.9 4.9 4.9

(1800+50) (1800450) (1800+50) (1800+50) (1800450)

(1777450) (1585+50) (1585+50) (1585+50) (1489450)

( 50£10 ) | ( 50410 ) | ( 5010 ) | ( 50£10 ) | ( 50£l0 )
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T F A A& PY21-51A PY21-60 PY21-604 PY110-25
W e B R] — AT AT AL VT AA T
. e . B2 ki B =| mo/h 100(70) 100(70) 100(70) 110(75)
OB R T Mpa | 5,401 8) 5. 4(7.8) 5.4(7.8) 1.6(6.6)
TR EE| m 21. 4 29 29 25
w H o 84P00000L~ | 84P020001~ | 85P000001~ | 89P010001~
o 94P 85p 85P 95p
R4 | mEa@pf | % £HB (&P BT Ji: = # #e &
EHE L FE MPa 27. 5+1 27.5+1 27. 5+1 27. 541
#3 U VHHE MPa 27. 51 27. 51 27. 51 27. 51
H N ITAE— X JHFE MPa 13. 71 13.7+1 13. 741 13. 71
o | RSS2 — oo E MPa 20. 61 27. 41 27, 4%l 28. 41
" By ME|ACC A AES MPa 7.8l 7.8l 7.8+l 7. 81
(= (R v 7 BlERE) (min™) (2200£50) (1500+50) (1500+50) ;2;(;0;5%
(= v Bl (min™) (1937450) (1540+50) (154050) | 1937450 Vi
(fE By ¥ 18 FE) () ( 50%10 ) | ( 5010 ) | ( 50%10 ) f’;ﬁﬂﬁﬁ?
HEEERfTRL b | Nem 29449, 8 765+9. 8 76549, 8 29449, 8
o FEDHT by
FEEAT Y
e BAT R b [ ERSNT U TR | Nem 29449, 8 765+9. 8 765+9. 8 29449, 8
= OFERH B FOFEDRHT R s
# | E BEEAL hOTHEY | F 3 3 3 3
3 B OBl O&E B sec 110£10 205410 205+10 155£10
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* . (b€ B {E &h £ FE) () ](360-4fEm) | (3602 FE]) | (360 £HEE]) | (360 2FEED
& EmIfEgh | \ e - ( 1600 )
= GHER - 7 EEEH) (min™) ( 1600 ) ( 1500 ) ( 1600 ) HE BEE 1937
4 (=¥ v plERE) (min™!) ( 1409 ) ( 1540 ) (1643 ) |\ s =39172
(fF 8 ¥ B &) (C) | ( 50£10 ) | ( 50x10 ) | ( 5010 ) | € 50£10 )
B
= Z EREL ) VH mm 0.5 LF | 05 MF | 05 8F | 0.5 UF
SNV ‘
;‘/]j B R R B (| & B R min ( 10 ) ( 10 ) ( 10 ) ( 10 )
1 (TEEIEEER) (XmENoJ§ [ B No.2 ]| No.2 1| [ B No.2 J|[ No.2 ]
L
DWMES V7 gk KHHEORBEBIZT 5 Z &,
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= D EEETHITBMENTWSEZ L AR TAZ L,
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PY115(A)-26 PY115-31 PY115-31A | PY120(A)-33 | PY120(A)-36
L AT AA T AA LT AA T AA T
115 115 115 120 120
4.6(6.6) 4.6(6.6) 4.6(6.6) 4.6(6.6) 4.6(6.6)
25.7 30.7 31 33 36
95P000001 ~ 92?0&2801” 96P000001~ | 97PO0000I~ | 96PO10001~
B T = #e B
27. 5+1 27. 541 27. 5+l 27. 5x1 27. 5+1
97, 51 27. 541 27. 541 27. 5+1 27. 51
13. 741 13. 741 13, 741 13. 71 13. 7+1
97, 4+1 28. 4:+1 28. 4+] 28. 441 28. 4+1
— 7. 8+1 — — -
(1800+50) (1800+50) (1800+50) (1800+50) (1800450)
(1777+50) (1585+50) (1585+50) (1585+50) (1489+50)

( 50£10 ) | ( 50£10 ) | ( 50£10 ) | ( 50+10 ) | ( 50+10 )
29449. 8 — — — —
29449, 8 - - — —

3 3 3 3 3
15510 12010 120410 205+10 150£10
(360- £FElRl) | (370-FREHEE) | (360 @) | (370-FREFEED | (370 FREHER])
( 1800 ) ( 1500 ) ( 1800 ) ( 1800 ) ( 1800 )
(1777 ) ( 1320 ) ( 1585 ) ( 1585 ) ( 1489 )

( 50£10 ) | ( 50£10 ) | ( 50£10 ) | ( 50+10 ) | { 50+10 )
0.5 LLF 0.5 UF 0.5 T 0.5 LT 0.5 LT
( 10 ) ( 10 ) ¢ 10 ) ( 10 ) ( 10 )
[ No.2 J|[ B No.2 1/[ B No.2]|[ B No.21|[ K No.2]
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B 3R PR 56 L3¢

= F o % PH20-11 PH20-11A | PH10-50, 50A |  PH30-11
% ook o B R — 27 4—R | Ay 44— | 2AZ =X 27 4—R
. P g | EAHEE | w/h 20 20 30 30
B R B ER R T wpa 12 1.2 18 1.8
7" —hEr RN B m 11 11 11 11
B Om B % 87P00001~ | 87P00001~ | B4PO09C0L™ 1 g0poop001~
K4 | BE&H | A=BRB &P | B % = F % &
A R bu—2 4| B,/ min — — — _
no— ¥ [A] 85 K [8],//min 251 2541 3041 3041
R TEED arErs o E ek - (1500+50) (1500:£50) (2000£50) (175050)
Eﬁ%i;égiﬁfk) Em%n_lg U 1780450 | Wy S 1780450 | Uy g $2380450 | Vg 82080450
I S M 1 = 38 150050 | = 28 1500450 | = #E 2000450 | = 2 1500450
(fE & 1 R &) () ( 50410 ) | ( 50%10 ) | ¢ 50x10 ) | ( 5010 )
B & O E min™ 1843 1843 2643 2243
% Frx—rDcbH mm 20-Fr-vER | 20-Fe-vrpd | 20-Fz-vHHR | 20-F-UHoR
WDLRBAEE) GaEsy sk - (1500450) (1500+50) (2000+50) (1750+50)
Eﬁ%T;éggfk) Em%nﬁlg VN S 1780450 | U S 1780450 | VN3 2380450 | V3 X 2080450
4 - s min = 3 1500450 | = ZF 150050 | = ZE 200050 | = 35 1500450
= (fF @ W B =) (C) ( 50£10 ) ( 50210 ) (5010 ) ( 50210 )
7 & E E MPa 0.083 M 0.083 M 0.083 M 0.083 M
| ® (RAEMBEIRE | (in) | yosptpy ) | Clometm ) | (105509 ) | (1055860
B 2R V7| EHRTEHRE MPa 0.007 M 0.007 M 0.007 M 0.007 M
(R £ =F /D) (min) ( 60 ) ( 60 ) (60) (60 )
VUL R Do mm  §20 -~ WEE) 20 AT VPR | 16~-20A" Wb 16~20-A VbR
T—h (1) vIH mm 0.5 LA'F 0.5 LAF 0.5 LATF 0.5 LIF
T—h (2) I mm 0.5 LAF 0.5 LAF 0.5 LL'F 0.5 LLF
e . ) T—n (3) vIH mm — 0.5 AT 0.5 LUF 0.5 AT
vy T (@) v mm — - - -
BRMETE | 7—n 5) v Uy mm _ _ _ _
i (H & B R (min) ( 10 ) ( 10 ) ( 10 ) (10 )
7 (FFEEHIAF) C - ) C - ) C - ) C - )
(TFEZEE L (@ No. 11 L No.1 1L No.1 1L No.1 1|[ No.1 ]
4t ! 7= A (1) B | sec 3510 35£10 35+10 35£10
FE A sec 35410 35+10 35410 35410
VA 7= A (2) B W» sec 55410 40£10 35&10 40410
M A sec 70410 3510 30410 35410
LR 7= A @) T sec — 2010 15410 20£10
S B A M B | sec — 20£10 2010 2010
EBHRER] | 7 — & (@) B W sec — — — —
B = WE A sec — — — —
7 — A (5) fB ¥ sec — — — —
¥ A sec — — — —
GHER > 7Bl (min™) ( 1500 ) ( 1500 ) ( 1650 ) ( 1460 )
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(FFEfEE EE) (FENo I [ B No.3 J|[ ® No.31|[ B No.31|[ X No.3]
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PH35-11 PQL0-10 PH40-14 PHA5-14/14A PH40-16 PH50-14 PH50-16 PH50-17
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% ﬂjjé i f_ﬁ X[ - 1 EB% #st;?;#)- EBr EBF
. . \ 5 K B = m 69 (47) 69 (47 160 (108) 150
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I (= v P BB (min™) (1900450) (1800+50) (1760+50) (1750£50)
- (fE & W & ) (C) ( 50+10 ) ( 50+10 ) ( 50+10 ) ( 50=10 )
iOE E miin™ 42+1 4041 3641 40+1
= Fx—r DA mm — — —
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= 5T 3 4 DC-M700BR DC-M700BD  |DC-MB50BD-516 | DC-M650BD-418
Y AL T IWT AL TN T | ALY TIWT | AL TN T
. e 5 ok H W B o' h | ERT, R4 | BT, BE4S 65 65
LRGN EftH B HES] MPa  [FRHE4.9, GIES. 0 4.9, FES.O 4.8 4.8
7 -hKH EE m 16 16 16 18
WA = % 6701~ 5801~ 6501~ 6001~
K| mAEEHMN AW E (& B % & P HE &
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(fE & W B B (°C) ( 5045 ) ( 5045 ) ( 5045 ) ( 5045 )
B &% ¥ OpF min™! 4022 4042 4042 4042
% Fz— DI mm - - -
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(1R £ 0 ) {min) C = )1 = )yl = Yy =
Vb h DTz mm - — - -
T—n (1) Y UF mm 2 2 2 2
T—Ah (2) VYK mm 2 2 2 2
* . T—b (3) Y mm 2 2 2 2
Q/U‘/? T—h @) Y F mm - - - -
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K # v 7 mHEH W E| MPa 23.5 23.5 31.3 31.3
¥ | (e m) K HFE | MPa B4 8 FET. 9| E L 8 HET. O 1.8 1.8
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DC-SL1100BD-

DC-SL1100BM-

DC-A1000BS | DC-A1000BR | DC-A1000BD | DC-SL1000BS | DC-SL1000BR | DC-SL1000BD 56 156
W B ZAV TP NT | AL T NT R F ZA VTP IWVT | AA TG | AL TWVT | AL TN T
U100, BIE60 | AEYE100, BIE60 | FEUE100, F/E60 | HEYE100, FEE65 | HEYE100, /65 | FEHE100, 65 | BE107, St T4 | BHE107, BHET4
WL, 9. BFES. 0| B4, 0, BJES. O | K24, 0, BJFES. 0| ¥4, 9, BT, 5 | ABIE4. 0, BJET. 5| B4, 0, 7.5 | #5YEs. 4, )ES. 2 |5, 4, BES. 2
21 21 21 24.6 24.6 24.6 25.9 25.9
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i % = e &
32.0£1. 0 32.0+1.0 32.0£1.0 26. 0£1. 0 26. 0£1. 0 26. 0£1. 0 27.0+1. 0 27.041. 0
(1800+50) | (1800%50) | (1800=%=50) | (1800=%50) | (1800=+50) | (1800==50) | (1800=%50) | (1800=50)
(2000+50) | (2000%=50) | (2000==50) | (2000=%=50) | (2000==50) | (2000==50) | (2000=+50) | (2000==50)
(50+5) ( 50=%5 ) ( 50%5) ( 50+5 ) ( 50+5) ( 50*5) ( 50*5) ( 50=%5)
39+2 39+2 39+2 3842 3842 3842 452 45=+2
(1800%50) | (1800=%50) | (1800=%50) | (1800%=50) | (1800=%=50) | (1800=%=50) | (1800=%=50) | (1800=*50)
(2000%50) | (2000%=50) | (2000=50) | (2000=%=50) | (2000==50) | (2000==50) | (2000=%50) | (2000==50)
( 50=%5) ( 505 ) ( 50%+5) ( 50%5) ( 505 ) ( 50+5) ( 50*5 ) ( 50%+5 )
«C — )Yl = )] = 1 =) =07 =1 = )] =
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[ ®No.1] [ No.1] [ B No.1] [ B No.1] [ No.1] [ [®No.1] [ X No.1] [ No.1]
325/90° 32+5/90° 32+5/90° 63+5/90° 63£5/90° 63+5/90° 48+5/90° 545/90°
6025/90° 60+5/90° 60=5/90° 60+5/90° 60+5/90° 60+5/90° 71£5/90° 71%+5/90°
75+5/210° | 75%+5/210° | 75%5/210° | 75%=5/180° | 75%5/180° | 75==5/180° | 103=%=5/180° | 80=%5/180°
75+5/210° | 75%5/210° | 75%5/210° | 75%5/180° | 75=5/180° | 75==5/180° | 81=%+5/180° | 81=+5/180°
43+5/270° | 43%5/270° | 43%5/270° | 47%5/270° | 47=+5/270° | 47+5/270° | 65=%5/270° | 65%5/270°
86+5/270° | 86x5/270° | 86=x5/270° | 86=%=5/270° | 86%5/270° | 865/270° | 88=%5/270° | 88=%5/270°
— - — — — - 2945/220° | 29+5/220°
— - — — — — 63+£5/220° | 63%5/220°
(1800%50) | (1800=%=50) | (1800=%=50) | (1800=%=50) | (1800£50) | (1800=%50) | (1800£50) | (1800==50)
( 505 ) ( 505 ) ( 50+5) ( 50%5) ( 50=%5) ( 50%5 ) ( 50%5 ) ( 505 )
[ B No.3] [ & No. 3] [ B No.3] [ X No.31] [ & No. 3] [ & No. 3] [ X No.3 ] [ B No.31]
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1B 8 BT, 9| MENEA 8 TRET. O AEMEA 8 BT, O | AEMEA. 6, FEIET. || 1R UEA. 6, FET. || KEYEA. 6, BET. 1 [BEMES. 0, FSE 7. 6IEHES. 0, EET. 6
0.98+0.25 | 0.98%0.25 | 0.98+0.25 | 0.98=%0.25 | 0.98+0.25 | 0.98=+0.25 | 0.98=+0.25 | 0.98=0.25
«C - )y =1 = )y =1 C =1 =) = )| =)
«C — Y/ = )] = )y = 31 C =1 = Y| = )l =)
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x F o 4 DC-M700BR DC-M700BD  |DC-M650BD-516 | DC-M650BD—418
= —/ 2A LTI NT | AL TANVT | ZA T NVT | RL TSNS
. e 5 B ok B| m® h | B0, BE4S | BT, BIE4S 65 65
B R B B e )] MPa B840, 5Es. 0 [EELO. §IES.0 4.8 4.8
7 —hER R L m 16 16 18 18
WA a2 6701~ 5801~ 6501~ 6001~
) A EE (&P B {7 i T x o, O il
FR L HE MPa 24. 0£0. 5 24.0+0.5 32.0+0. 5 32.0+0.5
U EWE MPa 24.0+0. 5 24.0+0. 5 32.0+0.5 32.0+0. 5
T AT AE—FHE MPa 17. 6+0. 5 16. 240. 5 16.240.5 16.240. 5
EoOVHERSE o — oW E MPa | 27.4%0.5 | 27.420.5 | 27.440.5 | 27.4%0.5
. Y ME|ACC FREAEH MPa - - - -
[ GHER v 7R (min™ | ( 1550450 ) | ( 1550450 ) | ( 2170450 ) | ( 2170+50 )
(P EEEE) (min™) | ( 2000£50 ) | ( 2000£50 ) | ( 2170450 ) | ( 2170+50 )
(fE @ 3 1| BEE) (°C) ( 5045 ) ( 5045 ) ( 5045 ) ( 5045 )
FEEIGEERfMTRL D | Nem - — — —
yid FEOFHT hor s
HERlST U v
pe | B AL b BEEIST Y TR | Nem 258.7 258.7 258.7 258.7
= DFFRTF L R OREDAHT bvs
% | Bl BEEIRL ORHAR | 4E 3 3 3 3
3 I A 3 sec  [27.542.5/90° [27.542.5/90° |27.5+2.5/90° |27.5+2.5/90°
=
- x (b€ 1B 7E B A BE) (BE) |( 3604fEmE H|( 360&hEE )|( 360&kEm )|( 3604kl )
[EN N
4 BEEEBVEE | Ly 7EES) | (min™) | ( 1550450 ) | ( 1550450 ) | ( 217050 ) | ( 2170450 )
45 (= EERE) (min™) [ ( 2000+50 ) | ( 200050 ) | ( 2170+50 ) | ( 2170£50 )
(e & ¥ B B (C) { 5045 ) ( 5045 ) ( 5045 ) ( 5045 )
= 7]; ERELY F mm 2 2 ) 2
SN \
;)j B Sk B Gl & & M) min™ 15 15 15 15
I (FR3edeiRs) (R Nol| [ No. 2] [ X No. 2] [ X No. 2] [ X No. 2]

WE  BTHEAREEERT (BEE).




(2/4)

DC-SL1100BD-

DC-A1000BS | DC-AI1000BR | DC-A1000BD | DC~SL1000BS | DC-SLLOOOBR | DC-SL100OBD L DC‘SLMl2160(’BM‘
R I AT IWNT | AL Tr0NT R’ F AL TISNT | ZA L TISWNT | AL FrVT | 2L T 0T

fRIE100, BE60

HEHE100, FE60

HEHE100, BHE6O

1EHE100, 65

FEHEL00, EFE6D

IZHE100, HESS

EHEL07, BET

107, BET4

15184, 9, FE8.0

14 9, BIES.0

1214, 9, FEB. 0

B4 9 BET 6

FHEL 9, BET S

4.9, BIET.5

155, 4, BIES. 2

HEHES, 4, BES. 2

21 21 21 24.6 24.6 24.6 25.9 25.9
12050~ 10501~ 14001~ 30001~ 31001~ 32001~ 33001~ 34001~
i %= P2 He i
24, 0+£0. 5 24. 040. 5 24, 0+0. 5 26. 040, 5 26. 00, 5 26. 0+0. 5 28.440. 5 28.4+0.5
24.040.5 24. 0%0. 5 24. 020, 5 26. 0+0. 5 26. 00. 5 26. 0+0. 5 28, 440. 5 28, 440, 5
15. 840. 5 15. 840. 5 15. 8+0. 5 15.840. 5 15.8+0.5 15. 8+0.5 16.2+0. 5 16.240. 5
27.440.5 27.4%0. 5 27.440. 5 27.440. 5 27.440. 5 27.440.5 27.4+0.5 27.440. 5
( 1800450 ) | ( 1800450 ) | ( 1800450 ) | { 1800450 ) | ( 1800450 ) | ( 1800450 ) | ( 1800450 ) | { 1800450 )
( 200050 ) | ( 200050 ) | ( 2000450 ) | { 2000+50 ) | ( 2000+£50 ) | ( 2000450 ) | ( 2000+50 ) | ( 2000450 )
( 5045 ) ( 5045 ) { 5045 ) { 5045 ) ( 50£5 ) { 5045 ) { 5045 ) { 5045 )
258. 7 258. 17 258. 7 495.9 495. 9 495. 9 495.9 495, 9
3 3 3 3 3 3 3 3
27.542,6/90° |27.542.5/90° |27.52.5/90° |27.5+2.5/90° |27.5%2.5/90° |27.5+2.5/90° | 46+2.5/90° | 46+2.5/90°
( 3604efEm] )|( 360&kEE )|( 360&hEm] ) |( 3602FEE ) |( 3602REE )|( 360-HERE )|( 3604KEE )|( 3604&KEE )
( 1800450 ) | ( 1800450 ) | (' 1800+50 ) | ( 1800+50 ) | ( 1800+50 ) | ( 1800+£50 ) | ( 1800+50 ) | ( 1800+50 )
( 200050 ) | ( 2000450 ) | ( 2000450 ) | ( 2000+50 ) | { 2000+£50 ) | ( 2000£50 ) | ( 2000£50 ) | ( 2000450 )
( 5045 ) ( 505 ) { 50+5 ) ( 50+5 ) ( 50£5 ) ( 50+5 ) ( 50+5 ) ( 5045 )
2 2 2 2 2 2 2 2
15 15 15 15 15 15 15 15
[ & No. 2] [ 1] No. 2] [ X No. 2] [ ¥ No. 2] [ ] No. 2] [ & No. 2] [ ] No. 2] [ B No. 2]

—67



= ¥ 4 4 DE-SLLIOOBDH™| ey 1000BS | DC-LI000BR | DC-L1000BD
Y E AL T IINT W AA LTI WVT | AT I IWVT
R & E Ey B KXt H & mb/h [ S0, 52 | 100, BE60 | 100, SE60 | 100, BHE60
e B KW (L JE 77| MPa  |EET. 0 BFE11. 8 10 4. BET 4| EVEA. 4, B/E7. 4] B4 4 B/ET.4
AR v ] m 25.9 30.6 30. 6 30.6
WA B % 35001~ 20001~ 21001~ 22001~22090
X 4| BmE®SMN mE®EB (&P B 3 = #* ue ([
R MR bo—7BE#| B, min | 27.0+1.0 26.0+1. 0 26. 0+1. 0 26.0+1. 0
o — & [A R # [a],/ min
TR (WMER > 7 RERE) (min™) (1650£50) (1650+50) (1650450) (1650+50)
E (= mEE#) (min™) (1830+50) (1850450) (1850+50) (1850+50)
(fF @ W B &) (C) ( 5045 ) ( 5045 ) ( 5045 ) ( 5045 )
ET =S O - ) min 4142 4242 4942 4249
S o~ - -1 _ — - -
Elnigpg l =Y 0D
= (HE A 7 ElEEE) (min™) (1650+50) (1650450) (1650+50) (1650+50)
" (v ¥ RS (min™) (1830£50) (1850450) (1850+50) (1850+50)
== (ff & @ R &) (C) ( 50+5 ) ( 505 ) ( 5045 ) ( 5045 )
E 5 & E M| kPa — — - _
e = (GREMERERER) | (min) C = )yl = )yl = )] =)
B2 X V7| EAREFHEE kPa — — — —
(- Fr 5 1D (min) C — >yl = )y = )] =)
VUL b DT mm — — — —
T—Ah (1) VY H mm 2 2 2 2
T—Ah (2) Y H mm 2 2 2 2
£ . T—Ah B) Y UHF mm 2 2 2 2
My ‘/? _ T (4) Y HF mm 2 — - -
ARETE| — . 5By YU UH mm — — — —
N (Al & & R (min) (10 )| C 10 )| 10 )| C 10 )
7 (feBhEHmI ) [ — 1| — 1|0 = 1|0 = 1
(fEEHEELE) [(HmNo|] [ X No.1] [ X No.1] [ & No.1] [ & No.1]
i | ! 7= A (1) B T sec B4:5/90° 58+5/90° B8+5/90° 58+5/90°
o MEOH | sec 71£5/90° 9245/90° 9245/90° 92+5/90°
A 7= A (2 B W sec| 80+5/180° | 130+5/180° | 130+5/180° | 13045/180°
WE B cor| B81£5/180° | 100+5/180° | 10045/180° | 10045/180°
e 7= n B3 T sec| 65+5/270° | 75%5/270° | 76+5/270° | 75+5/270°
G N U F oA coc| 88£5/270° | 100+5/270° | 1004£5/270° | 10045/270°
= fEENIER | 7 — & (@) Y| sec 2945/220° - - -
= = e A sec 63+5/220° - - -
7 — A () T sec - - .
ME A sec — — _
Gl E A v T EEEE) (min™) (1650450) (1650450) (1650+50) (16504£50)
(fE & 1k B &) () ( 505 ) ( 50£5 ) ( 5045 ) ( 5045 )
WFEEBEER) (& Nol | [ No.3 ] [ No.3 ] [ No.3 ] [ No. 3 ]
K, E v 7 mHEE A W OE | MPa 26 26 26 26
o (Eﬂ/’”‘"“‘/ﬁ@}ﬂ) KO | MPa |fEE7 LERELL 7| YA 6 FIET. 8| HEMEA. 6, RIET. 8| IRIEA. 6, RITT.8
- 5 TR ERRE m - - - -
" 72 E MM B E A MPa 0. 98+0. 25 0. 98+0. 25 0. 98+0. 25 0. 98+0. 25
<
(HE R 7 mEsE) mn® 1 C — )| C — )| — )
& ENOMEL="! mnd) | C = )| C = Y] =)
(fF & B E) () ( — )1 = |1 =)

W TEREELERT EBE).
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- DC-L1100BD- | DC-L1100BD- | DC-L1100B¥— | DC-L1100BM-
DC-L1000BD 133 133 W33 M33
ALV TINT | AL T WT | AL T IWT | AL v TrWT | AAL VTV T
BEHEL00, BE60 | FBIE107, S0 [EBYEL0T, BIET. 4| 4107, BiFE69 | AEHEL0T, HFE6T
B4, 9, BT, 5| B4 9, SFET. 5 [1BUEs. 4, GJES. 2| 4EHE4 9, BFET. 5| {2184 9, BJET.5
30. 6 32.6 32.6 32.6 32.6
22091~ 40001~40091 40092~ 42001~42004 42005
I %= # e &
26. 0+1. 0 27.0+1. 0 27.04+1. 0 27.0+1. 0 27.0+1. 0
(1800£50) | (1800=%50) | (1800=%50) | (1800%50) | (1800=%50)
(2000£50) | (2000=%50) | (1900%+50) | (1900%+50) | (1900+£50)
( 505 ) ( 50%5) ( 505 ) ( 505 ) ( 505 )
422 4242 422 453 45+3
(1800-£50) | (1800=%50) | (1800=%=50) | (1800=%50) | (1800=£50)
(2000+50) | (2000%50) | (1900=%50) | (1900=50) | (1900=%50)
( 50%+5) ( 50=%5 ) ( 50+5 ) ( 505 ) ( 50=*5 )
( — )y = )yl = Y| =y =
( — Y| = >l = H ] = )y =)
2 2 2 2 2
2 2 2 2 2
2 2 2 2 2
— 2 2 2 2
(¢ 1w )| C 10 )| 10 Y| 10 )| 10 )
[ - 170 — 10 — 1|0 = 1|0 =1
[®No.11 [ ®No.11] [ K No.1] [ X No.11] [ X No.1]
58+5/90° 62+5/90° 6545/90° 65+5/90° 6545/90°
9245/90° 9845/90° 92+45/90° 9245/90° 9245/90°
13045/180° | 14045/180° | 11045/180° | 11045/180° | 110+5/180°
10045/180° | 110+5/180° | 11045/180° | 110+5/180° | 110+5/180°
75+5/270° 8545/270° 85+5/270° 8545/270° 85+5/270°
10045/270° | 115+5/270° | 11545/270° | 11545/270° | 11545/270°
- 3545/220° 3545/220° 3545/220° 3545/220°
- 7545/220° 7545/220° 7545/220° 75+5/220°
(1800+50) (1800+50) (1800+50) (1800+50) (1800450)

( 5045 ) ( 5045 ) ( 505 ) ( 5045 ) ( 5045 )
[ No. 3 ] [ No.3 ] [ No. 3 ] [ No. 3 ] [X No. 3 ]
26 26 28. 4 26 28.4
mHEA 6 EIET. IHEYEL, 6, BT, 1HENES, 0, (E7. 6[EHEL, 6, LT, 1|IEVES. 0, BIET. 6
0.98+0. 25 0.9840.25 | 0.98+0.25 | 0.98+0.25 0. 98+0. 25
( — )yl = >yl =yl = >y =)
( — )yl = >yl = Yy, = > =)
( — )yl = >yl = Yy, = Y] =)




DC-SL1100BDH-

=5 o 4 26 DC-L1000BS | DC-LI00OBR | DC-L100OBD
Wt o AKX - AT IIWT R # ZATINT | AL T T
W R & E TR B kot i & n®h | EHEs0, EEs2 [EHEL00, EE60 | fEHEL00, EE60 | EEHEL00, BIE60
% KM HES| MPa BEWET 0FIELL 81514 4, BIET. 4 |84 4 BIET. 4 [5084. 4 BIET. 4
T ARRM LS m 25. 9 30. 6 30. 6 30. 6
B O’ = 35001~ 20001~ 21001~ 22001 ~22090
X4 | mEEHF | £ E B (&P B {7 ® = = He &
TR TWE MPa 26. 0£0. 5 26. 0£0. 5 26.0+0. 5 26. 00, 5
LY FHE MPa 26. 0+£0. 5 26. 0+0. 5 26. 0+0. 5 26. 0+0. 5
4 M ITAE—ZHE MPa 16.2+0.5 16. 2+0. 5 17. 640. 5 16.240. 5
| WHERRE o — Ao MPa | 27.4%0.5 | 27.4%0.5 | 27.420.5 | 27.4%0.5
e Ty ME|ACC H A ALS MPa - - - -
as
B (HERY 7 EE) (min™) [ ( 1650450 ) | ( 1650450 ) | ( 1650450 ) | ( 1650450 )
(v EEH) (min™) | ( 1830450 ) | ( 1850450 ) | ( 185050 ) | ( 1850450 )
(E &R E (C) ( 5045 ) ( 5045 ) { 5045 ) ( 5045 )
FEEERMATALV O | Nem — — — —
Yo FEDRT b vy
EENRT Y 7
e AT AL b [ EEAT Y Bt | Nem 495.9 495.9 495. 9 495.9
B OFET T R hOFEDAT b2
th | FEEARL N OHEAR | & 3 3 3 3
% E oE & OE sec 46+9.5/90° |42 S{M g/ 42. Sii g/90° 42. 5’_& g/90°
%=
= s (be [a] 1E &) £ ) () 1( 360&heE )|( 3604&kEE )|( 3604fEm] )|( 3604hEM] )
& TEEIVESEE | hERL 7EER) | (min?) | ( 1650250 ) | ( 1650250 ) | ( 1650£50 ) | ( 165050 )
- (= v BRSO (min™) | ( 1830+50 ) | ( 1850450 ) | ( 1850450 ) | ( 1850450 )
= (F % 1 R 5 c) | (s045) | (s0#5) | (5085) | (5045)
B :
7 FEEY X mm 2 2 2 2
A R
}\ id J /$ N = .o
;Jj B SR B GAl & B B min™ 15 15 15 15
I (TR B L) (KmENo]| [ K No. 2] [ X No. 2] [ X No. 2] [ & No. 2]
bes
=
H

“oFD  HEAMEEERER S (BEE.
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- DC-LIT00BD- | DC-LI10060— | DC-Li100BH- | DC-L1100BM=
DC-L1000BD W33 W33 W33 33
ALY TINT | AL TP WT | ALV TN T | AL VT WNT | R VT

HE100, =60

FEEL07, BFE69

Y107, mE69

1EHE107, FBIE69

RIE107, mFE69

B9, BET.5

14,9, BIET.5

4. 9, BIET. 5

B4, 9, BFET.5

24,9, BIET.5

30. 6 32.6 32.6 32.6 32.6
22091~ 40001~40091 40092~ 42001~42004 42005~ L
i 7 = #e {3
26. 0+0. 5 26.0+0. 5 28.440.5 28. 440. 5 28.4+0. 5
26. 0£0. 5 26. 0£0. 5 28. 4+0. 5 28. 4+0. 5 28. 4+0. 5
16.240. 5 16.2+0.5 16. 240. 5 16. 2+0. 5 16.240. 5
27.4+0. 5 27.440. 5 27.440. 5 27.440.5 27.440. 5
( 1800+50 ) | ( 180050 ) | ( 180050 ) | ( 1800£50 ) | ( 1800450 )
( 200050 ) | ( 2000450 ) | ( 190050 ) | ( 1900+50 ) | ( 1900450 )
( 5045 ) ( 505 ) ( 50+5 ) ( 5045 ) ( 50+5 )
495.9 495. 9 495.9 495.9 495.9
3 3 3 3 3
2.5, F2.5 oo +2.5 .o 2.5 00 +2.5,. o
2.5 5/90 5y 5/90 60 _y 5/90 60 5/90 60 5/90
( 3604zl ){( 3604kEm )|( 3604kl )|( 3604hERE ) |( 360EhER )
( 180050 ) | ( 1800450 ) | ( 1800+50 ) | ( 1800450 ) | ( 1800450 )
{ 2000£50 ) | ( 2000450 ) | ( 190050 ) | ( 2000£50 ) | ( 2000+50 )
( 5045 ) ( 5045 ) ( 5045 ) ( 5045 ) ( 5045 )
2 2 2 2 2
15 15 15 15 15
[ X No. 2] [ X No. 2] [ X No. 2] [ ™ No. 2] [ X No. 2]
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